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1) The sufg of 38 and‘twice?t number,i:s 124. (g 113)
Find the number.

LG(:XI number @
2P +2x =124
38-38:2% =j2y-2©
2% = 86
= =
e 43

pUET

11) Chanel's Burger Barn sold 495 hamburgers today. The number sold
with cheese was half the number sold without cheese. How many

of each kind were sold?
letx= plain WS / \We know the least

3;0 information about the

number without cheese,
* ® = CH’ h:! _S I‘s or plain hamburgers.

zl * .i ® The first sentence tells us that the total number
2,‘ 'IHS sold was 495. Therefore, we must add the plain
burgers and the cheese burgers to equal this.
2%+ X=990
3 e
% =330




